Chapter 7 Test Solutions
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Since —-22.5%° is in quadrant I'V, sin(-22.5%) is
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Tr e

Tr @
y {E-:: %=:- 3 is in quadrant I. Also

F 41
sin@=+l—cos" 8 = = = I—ﬁ_zi
23 5
tanﬂ:sm&
cos g

() cos?é=2costE-1=

Mote that 28 is in quadrant III becauose
cos28<0.
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11. Verify tan® x—sin® x=(tan xsinx)" is an identity.
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Cwver the interval [0, 3607), the equation
sind =1 has one solution, 90P. Over the
interval [U, E:i'r]-. the equation sin& =—1 has
one solution, 270F. Solution set: {907, 2707)
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Since 0< x« 2x,0<3x < 6. Thus
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